VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

01 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

INVITATION.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI

UNITED ARAB EMIRATES

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Invoice To:

TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

TEXAS A&M UNIVERSITY

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT-PRICE	EXTENDED PRICE
	CHANGE ORDER 07/20/2017				
	USER-REF: 000000-JM				
	REFERENCE TAMU MASTER ORDER C8700013 **********************************				
	PLEASE EMAIL INVOICES TO: PURCHASING@QATAR.TAMU.EDU				
	PAYMENT TERMS: 100% NET 30 UPON RECEIPT OF GOODS OR INVOICE WHICHEVER IS LATER				
	ITEMS TO BE SHIPPED TO DOHA, QATAR.				
	SHIPPING CONTACT: SHIPPINGRECEIVING@QATAR.TAMU.EDU				
	INCOTERMS: DAP (DELIVERED AT PLACE) VENDOR WILL DELIVER THE GOODS DOOR-TO-DOOR TAMUQ EXCLUDING DUTIES & TAXES & INCLUDING CUSTOMS CLEARANCE. TAMUQ IS RESPONSIBLE FOR CUSTOMS DUTIES & TAXES, INCLUDING BAYAN.				
1	ENGR 112 SERVICE LEARNING 2ND EDITION ISBN 9780199922048 AUTHOR LIMA AND OAKES PUBLISHER OXFORD UNIVERSITY PRESS	20	EA	49.000	980.00
2	ISEN 667 THE ECONOMIC ANALYSIS OF INDUSTRIAL PROJECTS 3RD EDITION ISBN 9780195178746 AUTHOR: T.G.ESCHENBACH, N.A.LEWIS,	28	EA	180.000	5,040.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

02 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500

STM MIDDLE EAST LLC SUITE NO: 212

AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM

DUBAI

UNITED ARAB EMIRATES

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED

DOHA 00000 Ship To:

Invoice To:

TEXAS A&M UNIVERSITY

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION

TEXAS A&M UNIVERSITY @ QATAR

TEXAS A&M UNIVERSITY @ QATAR

C/O QATAR FOUNDATION

EDUCATION CITY

P. O. BOX 23874 DOHA 00000

EDUCATION CITY P. O. BOX 23874

PAYMENT WILL BE DELAYED.

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	J.C. HARTMAN, AND L. E. BUSSEY PUBLISHER: OXFORD UNIVERSITY PRESS				
3	MEEN 222 MATERIALS SCIENCE & ENGINEERING: AN INTRODUCTION - 8TH EDITION ISBN: 9781118477724 PUBLISHER: WILEY WILEYPLUS ONLINE SUBSCRITPION CODES	50	EA	-1-50.000	7,500.00
4	MEEN 344 ELEMENTARY FLUID MECHANICS ISBN: 9780471013105 AUTHOR: GARY WATTERS PUBLISHER: WILEY	15	EA	328.000	4,920.00
5	MEEN 357 NUMERICAL METHODS FOR ENGINEERS 7TH EDITION ISBN: 9780073397924 AUTHOR: STEVEN C. CHAPRA AND RAYMOND P.CANALE PUBLISHER: MCGRAW-HILL	35	EA	240.000	8,400.00
6	MEEN 360 THE SCIENCE AND ENGINEERING OF MATERIALS 7TH EDITION ISBN: 9781118319222 PUBLISHER: WILEY	35	EA	54.000	1,890.00
7	MEEN 363 DYNAMICS IN ENGINEERING 11TH EDITION ISBN: 9781482250251 AUTHOR: DARA CHILDS PUBLISHER: CRC	10	EA	133.000	1,330.00
8	MEEN 401 ENGINEERING DESIGN	15	EA	218.000	3,270.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

07/19/2017

Order Date:

03 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM

DUBAI

UNITED ARAB-EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

Invoice To: TEXAS A&M UNIVERSITY

TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	ISBN: 9780073398143 AUTHOR: DIETER AND SCHMIDT PUBLISHER: MCGRAW-HILL		_		
9	MEEN 421 THERMO-FLUIDS ANALYSIS AND DESIGN 5TH EDITION ISBN: 9780078027680 AUTHOR: Y.A.CENGEL,R.H.TURNER,& j.M. CIMBALA PUBLISHER: MCGRAW-HILL	20	EA	224.000	4,480.00
_10	MEEN 431 ENGINEERING MECHANICS: DYNAMICS ISBN: 9781119044819 AUTHOR: J.L.MERIAM & L.G.KRAIGE, WILEY PUBLISHER: WILEY REMARKS: DYNAMICS SI	35	EA -	170.000	5,950.00
11	MEEN 437 HEETING, VENTILATING, AND AIR CONDITIONING: ANALYSIS AND DESIGN 6TH EDITION ISBN:9780471470151 AUTHOR: MCQUISTON, PARKER, AND SPITLER	30	EA	125.000	3,750.00
12	MEEN 489 COMPUTER AIDED MANUFACTURING 3RD EDITION ISBN: 9780131429192 AUTHOR: T.CHIEN CHANG,R A. WYSK, HSU-PIN WANG PUBLISHER: PRENTICE HALL	20	EA	210.000	4,200.00
13	AUTOMATION, PRODUCTION SYSTEMS, AND COMPUTER AIDED MANUFACTURING ISBN: 9781292076119 AUTHOR: MIKELL GROOVER PUBLISHER: PRENTICE HALL	20	EA	78.000	1,560.00
14	ECEN 210	50	EA	135.000	6,750.00
PAW					
EO				Terms	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE; The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 04

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	C PROGRAMMING: A MODERN APPROACH 2ND EDITION ISBN: 9780393979503 AUTHOR: K.N. KING PUBLISHER: NORTON				
15	ECEN 248 FUNDAMENTALS OF DIGITAL LOGIC WITH VERILOG DESIGN 3RD EDITION ISBN: 9780073380544 AUTHOR: STEPHEN BROWN PUBLISHER: MCGRAW-HILL	20	EA	260.000	5,200.00
16	ECEN 314 SIGNAL AND SYSTEMS: ANALYSIS USING TRANSFORM METHODS AND MATLAB 2ND EDITION ISBN: 9780071086738 AUTHOR: J. ROBERTS PUBLISHER: MCGRAW-HILL	8	EA	68.000	544.00
17	ECEN 322 FUNDAMENTALS OF APPLIED ELECTROMAGNETICS ISBN: 9781292082448 AUTHOR: F. ULABY AND U. RAVAIOLI PUBLISHER: PEARSON	10	EA	87.000	870.00
18	ECEN 325 MOCROELECTRONIC CIRCUITS 7TH EDITION ISBN: 9780199339143 AUTHOR: SEDRA/SMOTH PUBLISHER: OXFORD UNIVERSITY PRESS	40	EA	70.000	2,800.00
19	ECEN 410 MEDICAL IMAGING SIGNALS AND SYSTEMS 2ND EDITI ISBN: 9780132145183 AUTHOR: JERRY L. PRINCE AND JONATHAN LINKS PUBLISHER: PEARSON	20	EA	195.000	3,900.00
PAW					
				Tamas	1,

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

05 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
20	ECEN 420 MODERN CONTROL SYSTEMS 13TH EDITION ISBN: 9781292152974- AUTHOR: RICHARD DORF AND ROBERT BISHOP PUBLISHER: PEARSON	35	EA	84.000	2,940.00
21	ECEN 438 POWER ELECTRONICS 1ST EDITION ISBN: 9780071289306 AUTHOR: DANIEL HART PUBLISHER: MCGRAW-HILL	15	EA	105.000	1,575.00
22	ECEN 444 DISCRETE-TIME SIGNAL PROCESSING 3RD EDITION ISBN: 9780131988422 AUTHOR: A.V. OPPENHEIM AND R.W. SCHAFER PUBLISHER: PEARSON	30	EA	165.000	4,950.00
23	ECEN 455 DIGITAL COMMUNICATIONS: FUNDAMENTALS AND APPL APPLICATION 2ND EDITION ISBN: 9780134724058 AUTHOR: B. SKLAR PUBLISHER: PEARSON	40	EA	117.000	4,680.00
24	CHEN 304 FLUID MECHANICS FOR CHEMICAL ENGINEERS ISBN: 9780071238243 AUTHOR: NOEL DE NEVERS PUBLISHER: MCGRAW-HILL	10	EA	85.000	850.00
25	CHEN 320 NUMERICAL METHODS FOR ENGINEERS NEW EDITION ISBN: 9780073397924 AUTHOR: CHAPRA AND CANALE	35	EA	170.000	5,950.00
PAW					
				Τ	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 06

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS-A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
-P. O. BOX 23874
DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	MCGRAW-HILL				
26	APPLIED NUMERICAL METHODS WITH MATLAB ISBN: 9780073401102 AUTHOR: CHAPRA PUBLISHER: MCGRAW-HILL	35	EA	220.000	7,700.00
27	CHEN 354 INTRODUCTION TO CHEMICAL ENGINEERING HERMODYNAMICS 7TH EDITION ISBN: 9780071247085 AUTHOR: SMITH, NESS, ABBOT PUBLISHER: MCGRAW-HILL	30	EA	85.000	2,550.00
28	CHEN 425 CHEMICAL PROCESS DESIGN & INTEGRATION(1 OF 3) IST EDITION ISBN: 9781119990130 AUTHOR: SMITH PUBLISHER: WILEY	30	EA	94.000	2,820.00
29	PLANT DESIGN AND ECONOMICS FOR CHEMICAL ENGINEERING (2 OF 3)5TH EDITION ISBN: 9780071240444 AUTHOR: PETERS, TIMMERHAUS, WEST PUBLISHER: MCGRAW-HILL	60	EA	87.000	5,220.00
30	SUSTAINABLE DESIGN THROUGH PROCESS INTEGRATIO FUNDAMENTALS AND APPLICATIONS TO INDUSTRIAL POLUTION PREVENTION (3 OF 3) 1ST EDITION ISBN: 9781856177443 AUTHOR: EL-HALWAGI PUBLISHER: BUTTERWORTH-HEINEMANN	60	EA	144.000	8,640.00
31	CHEN 455 CHEMICAL PROCESS SAFETY: FUNDAMENTALS WITH APPLICATIONS 3RD EDITION	30	EA	210.000	6,300.00
PAW				T	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 07

INCLUDE P.O. NUMBER ON ALL
CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

Tomores & Co	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
ITEM	ISBN: 978131382268 AUTHOR: DANIEL A. CROWL, JOSEPH F. LOUVAR PUBLISHER: PRENTICE HALL	QUARTIT	COM	UNITAGE	BALLINDED A MOD-STROET
32	CHEN 464 ELEMENTS OF CHEMICAL REACTION ENGRNG (1 OF 2) 4TH EDITION ISBN: 9780133887518 AUTHOR: H. SCOTT FOGLER PUBLISHER: PEARSON	30	EA	210.000	6,300.00
33	CHEMICAL_REACTION ENGINEERING (2 OF 2) 3RD ED ISBN: 9780471254249 AUTHOR: OCTAVE LEVENSPIEL PUBLISHER: WILEY	30	EA	350.000	10,500.00
34	CHEN 601 PRUDENT PRACTICES IN THE LABORATORY: HANDLING AND MANAGEMENT OF CHEMICAL HAZARDS - 2011 ED ISBN: 9780309138642 AUTHOR: BOARD ON CHEMICAL SCIENCES AND TECHNO PUBLISHER: NATIONAL ACADEMY PRESS	30	EA	117.000	3,510.00
35	CHEN 604 ADVANCED ENGINEERING MATHEMATICS 2ND EDITION ISBN: 9781292042541 AUTHOR: MICHAEL D. GREENBERG PUBLISHER: PRENTICE HALL	25	EA	71.400	1,785.00
36	CHEN 629 TRANSPORT PHENOMENA 2ND EDITION ISBN: 9780470115398 AUTHOR: R. BYRON BIRD- WARREN E. STEWARD PUBLISHER: WILEY	25	EA	295.000	7,375.00
37	CHEN 660 RELIABILITY ENGINEERING & RISK ANALYSIS	30	EA	110.000	3,300.00
PAW					
EO				Terme:	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

08 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	OUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
- 11514	2ND EDITION - ISBN:9781498745871 AUTHOR: M. MODARRES, M. KAMINSKIY AND V. KRIV PUBLISHER: TAYLOR & FRANCIS				
38	CHEN 689 CHEMICAL PROCESS DESIGN & INTEGRATION (1 OF3) 1ST EDITION ISBN: 9781119990130 AUTHOR: SMITH, PUBLISHER: WILEY	30	EA	94.000	2,820.00
39	GEOL 104 PHYSICAL GEOLOGY 14TH EDITION ISBN: 9780078096105 AUTHOR: CHARLES PLUMMER, DIANE CARLSON & LISA PUBLISHER: MCGRAW-HILL	25	EA	185.000	4,625.00
40	GEOL 404 PETROLEUM GEOSCIENCE ISBN: 9780632037674 AUTHOR: GLUYAS, J & SWARBRICK, R PUBLISHER: BLACKWELL	25	EA	143.000	3,575.00
41	ELEMENTS OF PETROLEUM GEOLOGY ISBN: 9780123860316 AUTHOR: SELLEY, R. C. & SONNENBERG,S.A PUBLISHER: ACADEMIC PRESS	25	EA	125.000	3,125.00
42	PETE 489E HYDROCARBON EXPLORATION & PRODUCTION, ISBN: 9780444532367 AUTHOR: JAHN, F, COOK, M & GRAHAM, M PUBLISHER: ELSEVIER	15	EA	165.000	2,475.00
43	PETE 201 NONTECHNICAL GUIDE TO PETROLEUM GEOLOGY, EXPLORATION, DRILLING AND PRODUCTION	30	EA	110.000	3,300.00
PAW			Of any .		

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30 N

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Invoice To:

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

TEXAS A&M UNIVERSITY

C/O QATAR FOUNDATION

EDUCATION CITY

DOHA 00000

P. O. BOX 23874

TEXAS A&M UNIVERSITY @ OATAR

07/19/2017

Order Date:

Page: 09

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI

Ship To:

UNITED ARAB EMIRATES

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

TEXAS A&M UNIVERSITY @ QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	ISBN: 9781593702694 AUTHOR: NORMAN J. HYNE PUBLISHER: PENNWELL				
44	PETE 225 FUNDAMENTALS OF DRILLING ENGINEERING 2011 ED ISBN: 9781555632076 AUTHOR: ROBERT MITCHELL, STEFAN Z. MISKA PUBLISHER: SPE	10	EA	195.000	1,950.00
45	PETE 225 A PRIMER OF OIL WELL DRILLING 7TH EDITION ISBN: 9780886982270 AUTHOR: PAUL BOMMER PUBLISHER: U. OF TEXAS PRESS	10	EA	138.000	1,380.00
46	PETE 301 Applied Numerical Methods with MATLAB for Engineers and Scientists - 4TH EDITION ISBN: 1259547698 AUTHOR: CHAPRA AND CANALE PUBLISHER: MCGRAW-HILL	30	EA .	75.000	2,250.00
47	Applied Numerical Methods with MATLAB for Engineers and Scientists - 4TH EDITION ISBN: 9780073397962 AUTHOR: CHAPRA AND CANALE PUBLISHER: MCGRAW-HILL	30	EA	215.000	6,450.00
48	PETE 310 THE PROPERTIES OF PETROLEUM FLUID 2ND EDITION ISBN: 9780878143351 AUTHOR: WILLIAM D. MCCAIN PUBLISHER: PENNWELL	20	EA	147.000	2,940.00
49	PETE 314	14	EA	90.000	1,260.00
PAW					
			L	T	L

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered Chapter 20, The 1226, Acvised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30 Ν

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 10

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	FLUID MECHANICS ISBN: 9781292089355 AUTHOR: RUSSELL C. HIBBELER PUBLISHER: PEARSON				
50	PETE 314 PRICIPLES OF HEAT AND MASS TRANSFER ISBN: 9780470646151 AUTHOR: THEODORE L. BERGMAN, ADRIENNE S. LAVI PUBLISHER: WILEY	8	EA	312.000	2,496.00
51	PETE 353 PROJECT ECONOMICS AND DECISION ANALYSIS, VOLUME II: PROBABILISTIC MODELS (2 OF 2) ISBN: 9781593702090 AUTHOR: M.A.MIAN PUBLISHER: PENNWELL	25	EA	115.760	2,894.00
52	PETE 401 PRACTICAL RESERVOIR SIMULATION: USING, ASSESSING, AND DEVELOPING RESULTS 2003 ED ISBN: 9780878148035 AUTHOR: M.R. CARLSON PUBLISHER: PENNWELL	25	EA	141.750	3,543.75
53	PETE 404 APPLIED GEOSTATISTICS FOR RESERVOIR CHARACTER SOCIETY OF PETROLEUM ENGINEERS, TEXAS. 2003 ISBN: 9781555630959 AUTHOR: KELKAR M., PEREZ G., (2002): PUBLISHER: SPE	30	EA	108.000	3,240.00
54	PETE 410 PETROLEUM PRODUCTION SYSTEMS, 2ND ISBN: 9780137031580 AUTHOR: MJ ECONOMIDES, AD HILL, C EHLIG-ECONO	30	EA	154.350	4,630.50
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

11 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PUBLISHER: PEARSON	•		;	
55	PETE 489C NATURAL GAS HANDBOOK, 2ND ISBN: 9780128103395 AUTHOR: B. GUO & A. GHALAMBOR PUBLISHER: GULF PUBLISHING	15	EA	170.000	2,550.00
56	CHEM 107 GENERAL CHEMISTRY PRINCIPLES AND MODERN APPLICATIONS (1 OF 2) 11TH EDITION ISBN:9780134097329 AUTHOR: PETRUCCI, HERRING, MADURA, BISSONNETT PUBLISHER: PEARSON	40	EA	160.000	6,400.00
57	CHEM 117 LABORATORY MANUAL (PACKAGED WITH STUDENT LAB NOTEBOOK) ISBN: 9780738092942 PUBLISHER: HAYDEN-MCNEIL	85	EA	41.500	3,527.50
58	CHEM 227 ORGANIC CHEMISTRY (1 OF 3) ISBN: 9780840054531 AUTHOR: JOHN E. MCMURRY PUBLISHER: BROOKS/COLE	10	EA	230.000	2,300.00
59	STUDY GUIDE WITH SOLUTIONS MANUAL FOR MCMURRY ORGANIC CHEMISTRY (2 OF 3) ISBN: 9780840054555 AUTHOR: JOHN E. MCMURRY PUBLISHER: BROOKS/COLE	10	EA	140.000	1,400.00
60	MOLECULAR MODEL SET FOR ORGANIC CHEMISTRY (3 OF 3) ISBN: 9780132019866	10	EA	25.000	250.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

07/19/2017

Order Date:

Page: 12

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI

UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PUBLISHER: THE PRENTICE HALL				
61	STUDENT LAB NOTEBOOK: 100 TOP BOUND DUPLICATE PAGES (2 OF 2) ISBN: 9781930882003 PUBLISHER: HAYDEN-MCNEIL	30	EA	20.000	600.00
62	CHEM 316 QUANTITATIVE CHEMICAL ANALYSIS 9TH EDITION ISBN: 9781464135385 AUTHOR: DANIEL C. HARRIS_ PUBLISHER: W. H. FREEMAN	30	EA	105.000	3,150.00
63	CHEM 318 CHEMISTRY 318 - QUANTITATIVE ANALYSIS LABORAT MANUAL FIFTH EDITION TEXAS A&M UNIVERSITY CHEMICAL ENGINEERING PROGRAM. ISBN: 9780808770985 AUTHOR: M.W ROWE , M.HYMAN , A.E.MILLER. PUBLISHER: PEARSON	30	EA	56.000	1,680.00
64	PHYS 208 SEARS AND ZEMANSKY'S UNIVERSITY PHYSICS, VOL I & II - 14TH EDITION ISBN: 9781784486426 AUTHOR: YOUNG & FREEDMAN 2016 PEARSON PUBLISHER: PEARSON ONLINE SUBSCRIPTIONS CODES	20	EA	80.000	1,600.00
65	PHYS 222 MODERN PHYSICS FOR SCIENTISTS AND ENGINEERS ISBN: 9781133111863 AUTHOR: STEPHEN T. THORNTON & ANDREW REX PUBLISHER: BROOKS/COLE	35	EA	305.000	10,675.00
66	PRECALCULUS WITH LIMITS 4TH EDITION	20	EA	53.000	1,060.00
PAW				T	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 13

INCLUDE P.O. NUMBER ON ALL. CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

*******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY
TEXAS A&M UNIVERSITY @ QATAR
C/O QATAR FOUNDATION
EDUCATION CITY
P. O. BOX 23874
DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
67	ISBN: 9781133954606 AUTHOR: RON LARSON, DAVID C. FALVO PUBLISHER: BROOKS/COLE MATH 151/152/251 CALCULUS: EARLY VECTORS (1 OF 3)	160	- EA	190.000	30,400.00
	ISBN: 9780534493486 AUTHOR: JAMES STEWART PUBLISHER: CENGAGE LEARNING				
68	MATLAB:AN INTRODUCTION W/_APPLICATIONS(2 OF 3 ISBN: 9781118629864 AUTHOR: AMOS GILAT PUBLISHER: WILEY	200	EA	220.000	44,000.00
69	STUDENT SOLUTIONS MANUAL FOR STEWART'S CALCULUS: EARLY VECTORS (3 OF 3) ISBN: 9780534359522 AUTHOR: I. STEWART, J. A. COLE, D PUBLISHER: CENGAGE LEARNING	170	EA	53.000	9,010.00
70	MATH 414 A FIRST COURSE IN WAVELETS WITH FOURIER ANALYSIS 2ND EDITION ISBN: 9780470431177 AUTHOR: ALBERT BOGGESS, FRANCIS J. NARCOWIC PUBLISHER: WILEY	30	EA	110.000	3,300.00
71	STLC 289 THE RIVER READER 11TH EDITION ISBN: 9781133310310 AUTHOR: JOSEPH TRIMMER PUBLISHER: WADSWORTH	20	EA	107.000	2,140.00
72	STLC 289 OUTCASTS UNITED	20	EA	9.000	180.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

07/19/2017

Order Date:

Page: 14

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM

DUBAI

UNITED ARAB EMIRATES

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY

P. O. BOX 23874

DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	ISBN: 9780385741958 AUTHOR: ST. JOHN, WARREN PUBLISHER: RANDOM HOUSE				-
73	STLC 289 EFFECTIVE ACADEMIC WRITING 2 - 2ND EDITION ISBN: 9780194323475 AUTHOR: ALICE SAVAGE AND PATRICIA MAYER PUBLISHER:OXFORD UNIVERSITY PRESS	15	EA	42.000	630.00
74	STLC 289 21ST CENTURY READING 2: CREATIVE THINKING AND READING WITH TED TALKS ISBN: 9781305265707 AUTHOR: EUNICE YEATES PUBLISHER: NATIONAL GEOGRAPHIC SOCIETY	15	EA	40.000	600.00
75	INST 222 DIVERSITY CONSCIOUSNESS: OPENING OUR MINDS TO PEOPLE, CULTURES & OPPORTUNITY(2015) 4TH EDITION - ISBN: 9780321919069 AUTHOR: RICHARD BUCHER PUBLISHER: PEARSON	15	EA	60.000	900.00
76	COMM 335 AN INTRODUCTION TO INTERCULTURAL COMMUNICATIO IDENTITIES IN A GLOBAL COMMUNITY -8TH EDITION ISBN: 9781483344300 AUTHOR: JANDT PUBLISHER: SAGE	30	EA	105.000	3,150.00
77	ENGL 210 TECHNICAL COMMUNICATION TODAY - 5TH EDITION ISBN: 9780321907981 AUTHOR: JOHNSON-SHEEHAN PURCHASER: PEARSON	35	EA	120.000	4,200.00
PAW					
EO				Torma	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

Page: 15

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES $\underline{\textbf{PRIOR}}$ TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

					1
ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
78	ENGL 210 TEAM WRITING: A GUIDE TO WORKING IN GROUPS 1ST EDITION ISBN: 9780312565824 AUTHOR: JOANNA WOLFE PUBLISHER: BEDFORD/ST. MARTINS	20	EA	20.000	400.00
79	ENGL 219 THE PARTICULAR SADNESS OF LEMON CAKE ISBN: 9780385720960 AUTHOR: AUTHOR BENDER, AIMEE PUBLISHER: RANDOM HOUSE	30	EA	14.500	435.00
80	ENGL 219 HULLABALOO AND THE GUAVA ORCHARD ISBN: 9780802144508 AUTHOR: DESAI, KIRAN PUBLISHER: GROVE PRESS	30	EA	14.500	435.00
81	ENGL 219 LIKE WATER FORCHOCOLATE ISBN: 9780385420174 AUTHOR: ESQUIVEL, LAURA PUBLISHER: ANCHOR BOOKS	30	EA	13.500	405.00
82	ENGL 251 FILM ART - 11TH EDITION ISBN: 9781259534959 AUTHOR: BORDWELL & THOMPSON PUBLISHER: MCGRAW-HILL	10	EA	140.000	1,400.00
83	HIST 105 A PATRIOTS HISTORY OF THE UNITED STATES:FROM COLUMBUS GREAT DISCOVERY TO THE WAR ON TERROR ISBN: 9781595231154 AUTHOR: SCHWEIKART, LARRY, AND ALLEN	35	EA	25.360	887.60
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

16 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PUBLISHER: PENGUIN				
84	HIST 105 A PEOPLES HISTORY OF THE UNITED STATES: 1492 TO PRESENT ISBN: 9780062397348 AUTHOR: HOWARD ZINN PUBLISHER: HARPER PERENNIAL	110	EA	18.000	1,980.00
85	POLS 206 GOVERNMENT IN AMERICA - 16TH EDITION ISBN: 9780133905045 AUTHOR: GEORGE C. EDWARDS III, MARTIN P. WATT PUBLISHER: PEARSON	60	EA	160.000	9,600.00
86	POLS 207 POLITICS IN STATES AND COMMUNITIES - 14TH EDI ISBN: 9780205994724 AUTHOR: THOMAS R. DYE; SUSAN A. MACMANUS PUBLISHER: PEARSON	40	EA	130.000	5,200.00
87	POLS 207 DEMOCRACY IN AMERICAN ISBN: 9780872204942 AUTHOR: TOCQUEVILLE PUBLISHER: HACKETT	40	EA	13.130	525.20
88	ENGR 482 ENGINEERING ETHICS: CONCEPTS AND CASES 5TH EDITION ISBN: 9781133934684 AUTHOR: CHARLES E. HARRIS AND OTHERS PUBLISHER: WADSWORTH	55	EA	132.000	7,260.00
89	CHEM 204 ELEMENTARY PRINCIPLES OF CHEMICAL	30	EA	220.000	6,600.00
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID. SUPPLIES/EOUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent.

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 07/19/2017

17 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700145

02

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

TO SHIPPING.

******1500 STM MIDDLE EAST LLC SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI UNITED ARAB EMIRATES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	PROCESSES 4TH EDITION ISBN: 9781118092392 AUTHOR: FELDER PUBLISHER: WILEY	-			
90	CHEM 237 IMAGE O FHEALTH LAB MANUAL 2015 EDITION ISBN: 9780738095653 AUTHOR: BARRINGTON PUBLISHER: HAYDEN MCNEIL	30	EA	75.000	2,250.00
91	CHEM 107 SELECTED SOLUTIONS MANUAL GENERAL CHEMISTRY 11TH EDITION ISBN: 9780133387902 AUTHOR: PETRUCCI, HERRING, MADURA, BISSONNET PUBLISHER: PEARSON	43	EA	76.500	3,289.50
92	FREIGHT DAP TAMUQ FOR LINE ITEM 1 TO 92 & 94	2,723	EA	7.500	20,422.50
93	FREIGHT DAP TAMUQ FOR LINE 93	228	EA	7.500	1,710.00
				TOTAL	409,735.55
	VENDOR REF: VIBHORE JAIN				
PAW					

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurer

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY: